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(9) 240+ 2:=7(120) (10) 380+19="(20) |
(11) 450+-15=12(30) (12) 640+16=1?(40)
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IR (A0 ) T ) =, AR B FHAEY (TE) R eey 4 B
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1. 496-+8=(62) 2. 376-+-4T=(8)
3. 1,764--63=(28) 4, 420-12=(35)
5. 3,192 TG+ 6=(5327C)" 16. 658 HE—4T= (14 HL)
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(1) 12+ 6x2=2(1)
(3) 48538 =0(2)
(5) 36+2+-3=7(6)
(7) 50+ 2+5=%5)
(9) 80+10=4=2(2)
(11)100+ 2 + 2 =?(25)

(2) 20-5+2=%(2)

* (4)56+4+T7=2(2)
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LIS SR, A L R SRR,
AT (AT LR), W T RIFE R (N

)]

3. ARGk A Il 4 O G e R AR 1 AR

(B SHARIRA 22 i, A A iiling o5 AL 11 (B oy
S EHE RN T8 AT AR R MIEE ).

(H)WI%E 1. SEE: 504 E? (7T ™ ).

2. f [ RH R, A AR BOR e 291, £63 ek A 3B YR



T o BMBEmsGEM a5

SE? (4 DTSR L i (58— ) S e e (B T
R A, ST A (I RRMHRRRE. )

B 0 ST e, Bk el B L G 5 SRy S A PR (s
WL )

4. B AT RR RO e, —IOHERR, R — R —RBIS IR %W.
TFmEe ().

GROBm RBUKE 22 a1k, Wﬁihﬂ-

i. 4,516+ 7+5+3=645--5+8=120+8=
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9. RHESA, GREF 32 A ZR8 763 RRIE)Y, f A ek
T68 82+ 6= (4 ift) i A 4 .
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1. 4,974 % 125=4,974 % 1,000--8=4.974,000—8=621,750
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(1) 5x 3 +8=1(23)
(3) 6+2x3=7(12)
(5) T+ 4 x3=2(19)
(7) 84 -2=2(0)
(9) T-10+5=1(5)
€11) 14—6%2=12(2)
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(4) 8—2x2=%(4)
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1. 54+ (12+415)=1%(2) 2. 84 (Tx3)=1(4)

3. 78— (12+4:23) =?(43) ~ 4. 64-+(55~33)="7(86)

5. (15-+16) > (64—28)'=%(1,271)

6. (25—16) * (35+24) +3=12(177)

‘7. 82x 4+ (T4—26—382) =1(8)
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2. 95— 36+ 6-+-80+-4=95—6+20=89-+20=109

3. 49% (3-+4)=49x7=343

4, 96+ (9—5+8) =96+12=8

5. 2 75 % (544-61+12) =2 JE % 127=254 JC

z BH= A AT 264 7T

6. 100 76 —2 6 X (16+12% 2) =100 I — 2 7 X 39
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